
18-092 CANFORD BRACKET For Canford Diecast loudspeaker 

 

 
 

 
 

18-092 CANFORD BRACKET For Canford Diecast loudspeaker, allows tilt-angle adjustment 
 
Surface mounting bracket for the 76-361 Canford Diecast freestanding loudspeaker.  Bracket attaches to either 
the top or bottom M6 tapped mounting hole on the loudspeaker casing.  Loudspeaker ‘platform’ can be 
adjusted in 30o increments to allow tilting/positioning with respect to the surface the bracket is fixed to.  
Assembly drawing with basic dimensions on page 2 of this document.   
 
Material: Bracket manufactured from CR4 Steel 
Finish:  Black Epoxy Powder Painted 
 
 
Contents: 
1x CANFORD DIECAST LOUDSPEAKER BRACKETS  Surface/wall bracket and loudspeaker ‘platform’. 
1x M5 SLOTTED SCREW Pan, MS, CB, 12mm Hinge pin. 
1x M5 FULL NUT Hex, MS, CB    Hinge pin securing nut. 
1x M5 SHAKEPROOF WASHER MS, CB    Hinge pin nut washer. 
1x M6 POZI SCREW Pan, MS, CB, 8mm   Loudspeaker securing screw. 
1x M6 SINGLE COIL SPRING WASHER, MS, CB  Loudspeaker securing screw washer. 
3x ST3.5 (No.6) POZI SELFTAP SCREW Pan, 25mm   To attach bracket to wall/surface.  

Additional or alternative fixings may be required to 
ensure secure mounting dependent on installation. 

 
 
Spare Parts: 
09-567  CANFORD DIECAST LOUDSPEAKER BRACKETS  
14-045  M5 FULL NUT Hex, MS, CB (pack of 100) 
14-282  M5 SLOTTED SCREW Pan, MS, CB, 12mm (pack of 100)  
14-774  M5 SHAKEPROOF WASHER MS, CB (pack of 100)  
14-178  M6 POZI SCREW Pan, MS, CB, 8mm (pack of 100) 
14-957  M6 SINGLE COIL SPRING WASHER, MS, CB (pack of 100) 
14-597  ST3.5 (No.6) POZI SELFTAP SCREW Pan, AB, MS, CB, 25mm (pack of 100)  
 
 
 
 
 
 



18-092 CANFORD BRACKET For Canford Diecast loudspeaker 

 

Assembly Drawing 
All dims in mm 
Not to scale 


